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…………………………………………………………………………………………………………………………………………………………………. 

1. What is the union of 𝐴𝐴 =  {1, 2} and 𝐵𝐵 =  {2, 3}? 
(a) {1, 2, 3} 
(b) {2} 
(c) {1, 3} 
(d) {1, 2} 

2. If 𝐴𝐴 =  {1, 2, 3} and B = {3, 4, 5}, what is 𝐴𝐴 − 𝐵𝐵? 
(a) {1, 2} 
(b) {3, 4, 5} 
(c) ∅ 
(d) {4, 5} 

3. The domain of the function 𝑓𝑓(𝑥𝑥)  =  1/(𝑥𝑥 − 2) is: 
(a) 𝑥𝑥 <  2 
(b) All real numbers 
(c) 𝑥𝑥 >  0 
(d) All real numbers except 𝑥𝑥 =  2 

4. Find 𝑓𝑓(2) for the polynomial function 𝑓𝑓(𝑥𝑥)  =  𝑥𝑥2  −  3𝑥𝑥 +  5 
(a) −1 
(b) 3 



(c) 5 
(d) 7 

5. If 𝑓𝑓(𝑥𝑥)  =  𝑥𝑥 +  2 and 𝑔𝑔(𝑥𝑥)  =  𝑥𝑥2, what is (𝑓𝑓 ∘  𝑔𝑔)(𝑥𝑥)? 
(a) (𝑥𝑥 +  2)2 
(b) 𝑥𝑥2  +  2 
(c) 𝑥𝑥 +  2 
(d) 2𝑥𝑥2 . 

6. The derivative of 𝑓𝑓(𝑥𝑥)  =  3𝑥𝑥2 is: 
(a) 𝑥𝑥2 
(b) 3𝑥𝑥 
(c) 6𝑥𝑥 
(d) 3 

7. If the velocity is given by 𝑣𝑣(𝑡𝑡)  =  3𝑡𝑡2  +  2𝑡𝑡, what is the acceleration? 
(a) 6𝑡𝑡 +  2 
(b) 3𝑡𝑡 
(c) 2𝑡𝑡 
(d) 3𝑡𝑡2 

8. The polar form of 1 +  𝑖𝑖 is: 
(a) √2 (𝑐𝑐𝑐𝑐𝑐𝑐 𝜋𝜋/4 +  𝑖𝑖 𝑐𝑐𝑖𝑖𝑠𝑠 𝜋𝜋/4) 
(b) 2 (𝑐𝑐𝑐𝑐𝑐𝑐 𝜋𝜋/4 +  𝑖𝑖 𝑐𝑐𝑖𝑖𝑠𝑠 𝜋𝜋/4) 
(c) 𝑐𝑐𝑐𝑐𝑐𝑐 𝜋𝜋/4 +  𝑖𝑖 𝑐𝑐𝑖𝑖𝑠𝑠 𝜋𝜋/4 
(d) √2 (𝑐𝑐𝑐𝑐𝑐𝑐 𝜋𝜋/2 +  𝑖𝑖 𝑐𝑐𝑖𝑖𝑠𝑠 𝜋𝜋/2) 

9. Solve the inequality 3𝑥𝑥 − 5 > 7. 
(a) 𝑥𝑥 <  4 
(b) 𝑥𝑥 ≥  4 
(c) 𝑥𝑥 ≤  4 
(d) 𝑥𝑥 >  4 

10. Solve the system of equations: 𝑥𝑥 +  𝑦𝑦 =  5 and 2𝑥𝑥 −  𝑦𝑦 =  4. 
(a) (1, 4) 
(b) (3, 2) 
(c) (4, 1) 
(d) (2, 3) 

11. Which of the following is the result of �1 −2
3 −4� + � 5 6

−7 8� ? 

(a) �1 0
0 −4� 

(b) �0 −2
3 0 � 

(c) � 6 4
−4 4� 

(d) �21 2
5 −24� 



12. Expand: (𝑥𝑥 +  2)(𝑥𝑥 −  2). 
(a) 𝑥𝑥2  
(b) 𝑥𝑥2  −  2𝑥𝑥 
(c) 𝑥𝑥2  −  4 
(d) 𝑥𝑥2  +  4 

13. Find the 5th term of the arithmetic sequence, 𝑎𝑎𝑠𝑠 + 𝑑𝑑, where 𝑎𝑎 =  3 and 𝑑𝑑 =  2. 
(a) 7 
(b) 13 
(c) 11 
(d) 9 

14. What is the cosine of a 90-degree angle? 
(a) -1 
(b) 0 
(c) Undefined. 
(d) 1 

15. The equation of a circle with center (0, 0) and radius 3 is: 
(a) 𝑥𝑥2  −  𝑦𝑦2  =  9 
(b) 𝑥𝑥2  +  𝑦𝑦2  =  3 
(c) 𝑥𝑥2  +  𝑦𝑦2  =  6 
(d) 𝑥𝑥2  +  𝑦𝑦2  =  9 

16. The vertex of the parabola 𝑦𝑦 =  𝑥𝑥2 is at: 
(a) (0, 1) 
(b) (−1,−1) 
(c) (0, 0) 
(d) (1, 1) 

17. The slope of the line passing through (1, 2) and (3, 6) is: 
(a) 4 
(b) 3 
(c) 2 
(d) 1 

18. The distance between (1, 1) and (4, 5) is: 
(a) 4 
(b) 5 
(c) √24 
(d) √16 

19. The integral of 𝑥𝑥2  with respect to 𝑥𝑥 is: 

(a) 𝑥𝑥
3

3
 +  𝐶𝐶 

(b) 3𝑥𝑥2   
(c) 𝑥𝑥2  +  𝐶𝐶 
(d) 2𝑥𝑥 



20. The integral of 𝑐𝑐𝑖𝑖𝑠𝑠(𝑥𝑥) with respect to 𝑥𝑥 is: 
(a) 𝑐𝑐𝑐𝑐𝑐𝑐(𝑥𝑥)  +  𝐶𝐶 
(b) −𝑐𝑐𝑖𝑖𝑠𝑠(𝑥𝑥)  +  𝐶𝐶 
(c) −𝑐𝑐𝑐𝑐𝑐𝑐(𝑥𝑥)  +  𝐶𝐶 
(d) 𝑐𝑐𝑖𝑖𝑠𝑠(𝑥𝑥)  +  𝐶𝐶 

21. What is the mean of the data set {1, 3, 5, 7}? 
(a) 4 
(b) 5 
(c) 3 
(d) 6. 

22. What is the range of the data set {2, 4, 6, 8}? 
(a) 2 
(b) 8 
(c) 6 
(d) 4. 

23. If two dice are rolled, the probability of getting a sum of 7 is: 
(a) 1/7 
(b) 1/36 
(c) 5/36 
(d) 6/36. 

24. The complement of the set 𝐴𝐴 =  {1, 2} in the universal set 𝑈𝑈 =  {1, 2, 3, 4} is: 
(a) {1,2} 
(b) {3,4} 
(c) ∅ 
(d) {1, 2, 3, 4} 

25. The equation of a line with slope 2 passing through (0, 3) is: 
(a) 𝑦𝑦 =  3𝑥𝑥 +  2 
(b) 𝑦𝑦 =  𝑥𝑥 +  2 
(c) 𝑦𝑦 =  2𝑥𝑥 
(d) 𝑦𝑦 =  2𝑥𝑥 +  3 

26. Find the value of 𝑓𝑓(𝑔𝑔(2)) for 𝑓𝑓(𝑥𝑥)  =  𝑥𝑥 +  1 and 𝑔𝑔(𝑥𝑥)  =  𝑥𝑥2 . 
(a) 3 
(b) 4 
(c) 5 
(d) 9 

27. Which of the following is NOT a polynomial? 
(a) 2𝑥𝑥2  +  3𝑥𝑥 +  4 
(b) 1/𝑥𝑥 
(c) 𝑥𝑥3  +  5 
(d) 4𝑥𝑥 −  1 



28. If 𝑃𝑃(𝐴𝐴)  =  0.3 and 𝑃𝑃(𝐵𝐵)  =  0.4, and events 𝐴𝐴 and 𝐵𝐵 are mutually exclusive, i.e. no intersection, 
what is 𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵)? 
(a) 0.6 
(b) 1.0 
(c) 0.7 
(d) 0.24 

29. The area under the curve 𝑓𝑓(𝑥𝑥)  =  𝑥𝑥 from 𝑥𝑥 =  0 to 𝑥𝑥 =  2 is: 
(a) 2 
(b) 4 
(c) 1 
(d) ∫ 2𝑥𝑥2

0 𝑑𝑑𝑥𝑥 

30. The derivative of 𝑐𝑐𝑐𝑐𝑐𝑐(𝑥𝑥) is: 
(a) 𝑐𝑐𝑖𝑖𝑠𝑠(𝑥𝑥) 
(b)−𝑐𝑐𝑖𝑖𝑠𝑠(𝑥𝑥) 
(c) −𝑐𝑐𝑐𝑐𝑐𝑐(𝑥𝑥) 
(d) 𝑐𝑐𝑐𝑐𝑐𝑐(𝑥𝑥) 

………………………………………………………………………………………………………………………….. 


